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Name: __________________________________



1
A dartboard is shown in the diagram below.  The two lines intersect at the center of the circle, and the central angle in sector 2 measures [image: image1.png]2z



.
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If darts thrown at this board are equally likely to land anywhere on the board, what is the probability that a dart that hits the board will land in either sector 1 or sector 3?

	1)
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	3)
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	2)
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	4)
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2
In a survey of people who recently bought a laptop, 45% said they were looking for a large screen, 31% said they were looking for a fast processor, and 58% said they wanted a large screen or a fast processor.  If a survey respondent is selected at random, what is the probability that the respondent wanted both a large screen and a fast processor?

	1)
	76%
	3)
	77%

	2)
	14%
	4)
	18%



3
The probability that Gary and Jane have a child with blue eyes is 0.25, and the probability that they have a child with blond hair is 0.5.  The probability that they have a child with both blue eyes and blond hair is 0.125.  Given this information, the events blue eyes and blond hair are


I:
dependent


II:
independent


III:
mutually exclusive

	1)
	I, only
	3)
	I and III

	2)
	II, only
	4)
	II and III



4
A suburban high school has a population of 1376 students.  The number of students who participate in sports is 649.  The number of students who participate in music is 433.  If the probability that a student participates in either sports or music is [image: image7.png]ELE
1376



, what is the probability that a student participates in both sports and music?


1
ANS:
2
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2
ANS:
4
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3
ANS:
2

The events are independent because [image: image11.png]


.

If [image: image12.png]P(4 or B)

(A)+ P(B)-P(Aand B) = 0.25+ 0.5-.125 = 0.625




, then the events are not mutually exclusive because [image: image13.png]P(4 or B) = P(4) + P(B)
0.625= 054025
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4
ANS:
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